
Kathrein Inc. , Scala Division
Post Office Box 4580                             Phone: (541) 779-6500
Medford, OR 97501  (USA)                         Fax: (541) 779-3991
www.kathrein-scala.com                  e-mail: mail@kathrein.com

MKPS-1/2/3/4/5
Horizontal/Vertical Polarization

Mounting Instructions

Antennas may be installed on either side of mast.

Item # Qty Description MKPS-1 MKPS-2 MKPS-3 MKPS-4 MKPS-5
1 2 L-Bracket
2 2 Saddle
3 2 U-Bolt
4 4 Flat Washer 3/8" x 1" 1/2" x 1-1/4" 1/2" x 1-1/4" 1/2" x 1-1/4" 1/2" x 1-1/4"
5 4 Lock Washer 3/8" 1/2" 1/2" 1/2" 1/2"
6 4 Hex Nut 3/8-16 1/2-13 1/2-13 1/2-13 1/2-13
7 4 Lock Washer
8 4 Hex Head Bolt

4.5"

3/8"
3/8-16 x 1-1/4"

2.375" 2.875" 3.5" 4"

 










Drain hole

Ci-10534-B

Page 1 of 2



Horizontal
polarization

Installation instructions
•  Remove only 4 of the round head bolts that come pre-installed on the antenna as shown.
•  Remove the "Drain hole" screw indicated below.
•  Attach L-Bracket to antenna as shown using hardware provided.
•  Install antenna to mast as shown using hardware provided.
•  Tighten all hardware to specified torque.
    (See chart below)

Note: Mast's not supplied with mounting kit.
Model # Fits masts with an O.D. of… Torque requirements
MKPS-1 2.375" (60mm) 27 Nm (20 lbf-ft)
MKPS-2 2.875" (73mm)
MKPS-3 3.5" (89mm)
MKPS-4 4" (102mm)
MKPS-5 4.5" (114mm)

48 Nm (35.4 lbf-ft)



Kathrein Inc. , Scala Division
Post Office Box 4580                             Phone: (541) 779-6500
Medford, OR 97501  (USA)                         Fax: (541) 779-3991
www.kathrein-scala.com                  e-mail: mail@kathrein.com

MKPS-1/2/3/4/5
Horizontal/Vertical Polarization

Mounting Instructions

Antennas may be installed on either side of mast.

Item # Qty Description MKPS-1 MKPS-2 MKPS-3 MKPS-4 MKPS-5
1 2 L-Bracket
2 2 Saddle
3 2 U-Bolt
4 4 Flat Washer 3/8" x 1" 1/2" x 1-1/4" 1/2" x 1-1/4" 1/2" x 1-1/4" 1/2" x 1-1/4"
5 4 Lock Washer 3/8" 1/2" 1/2" 1/2" 1/2"
6 4 Hex Nut 3/8-16 1/2-13 1/2-13 1/2-13 1/2-13
7 4 Lock Washer
8 4 Hex Head Bolt

4.5"

3/8"
3/8-16 x 1-1/4"

2.375" 2.875" 3.5" 4"

 








Drain hole

Page 2 of 2



Vertical
polarization



Installation instructions
•  Remove only 4 of the round head bolts that come pre-installed on the antenna as shown.
•  Remove the "Drain hole" screw indicated below.
•  Attach L-Bracket to antenna as shown using hardware provided.
•  Install antenna to mast as shown using hardware provided.
•  Tighten all hardware to specified torque.
    (See chart below)

Note: Mast's not supplied with mounting kit.
Model # Fits masts with an O.D. of… Torque requirements
MKPS-1 2.375" (60mm) 27 Nm (20 lbf-ft)
MKPS-2 2.875" (73mm)
MKPS-3 3.5" (89mm)
MKPS-4 4" (102mm)
MKPS-5 4.5" (114mm)

48 Nm (35.4 lbf-ft)


